## Bid #723-10998 - Full Service Copier Lease

Start Date Jun 5, 2012 6:51:23 AM EDT Awarded Date Not Yet Awarded

723-1099801-01 Class 1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Toshiba Business Solutions Usa Inc [Ad]	First Offer - \$66.00	18 / each	\$1,188.00	Y	Υ
Product Code: Agency Notes:		Supplier Product ( Supplier Notes: M Model:: e-Studio 2	ake:: Toshiba		
IKOn Office Solutions, Inc.	First Offer - \$68.25	18 / each	\$1,228.50		Υ
Product Code: Agency Notes:		a monthly commitm	ake:: Ricoh	ased on y	our

723-1099801-02 Class 2					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Toshiba Business Solutions Usa Inc [Ad]	First Offer - \$144.00	58 / each	\$8,352.00	Υ	Υ
Product Code:	· ·	Supplier Product	Code:		
Agency Notes:		Supplier Notes: N	<b>lake:</b> : Toshiba		
		Model:: e-Studio 4	56		
IKOn Office Solutions, Inc.	First Offer - \$246.36	58 / each	\$14,288.88		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes: M	lake:: Ricoh		
		Model:: Aficio MP4	002SP		
		this is a 36 monthly	lease rate including	the servi	ce cost
		at a monthly comm	itment of 8333 imag	jes based	on your
		annual commitmen	t. B/W cost to be bill	ed at .00	765

723-1099801-03 Class 3					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Toshiba Business Solutions Usa Inc [Ad]	First Offer - \$270.00	19 / each	\$5,130.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model:: e-Studio 5	<b>lake:</b> : Toshiba		
IKOn Office Solutions, Inc.	First Offer - \$407.67	19 / each	\$7,745.73		Υ
Product Code: Agency Notes:		at a monthly comm	<b>/lake:</b> : Ricoh	iges base	d on

723-1099801-04 Class 4					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Toshiba Business Solutions Usa Inc [Ad]	First Offer - \$468.00	3 / each	\$1,404.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: N Model:: e-Studio 6	<b>/lake:</b> : Toshiba		
IKOn Office Solutions, Inc.	First Offer - \$549.39	3 / each	\$1,648.17		Υ
	•				

Product Code:

Agency Notes:

Supplier Product Code:

Supplier Notes: Make:: Ricoh

Model:: Aficio MP6001SP

this is a 36 monthly lease rate including the service cost at a monthly commitment of 62500 images based on your annual commitment. B/W cost to be billed at .00426

723-1099801-05 Class 5						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Toshiba Business Solutions Usa Inc [Ad]	First Offer -	\$1,218.00	2 / each	\$2,436.00	Υ	Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: Model:: e-Studio	Make:: Toshiba		
IKOn Office Solutions, Inc.	First Offer -	\$1,495.72	2 / each	\$2,991.44		Υ
Product Code: Agency Notes:			cost at a monthly	Make:: Ricoh	000 imag	es

723-1099801-06 Class 6					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Toshiba Business Solutions Usa Inc [Ad]	First Offer - \$253.00	4 / each	\$1,012.00	Υ	Υ
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes: N	<b>lake::</b> Toshiba		
		Model:: e-Studio 4	540c		
IKOn Office Solutions, Inc.	First Offer - \$470.34	4 / each	\$1,881.36		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes: N	<b>lake:</b> : Ricoh		
		Model:: Aficio MPC	4502		
		this is a 36 monthly	/ lease rate including	the servi	ce cost
		at a monthly comm	nitment of 13333 B/V	V and 333	3 color
		images based on yo	our annual commitme	ent. B/W	cost to
		be billed at .00786	and color at .046		

723-1099801-07 Class 7					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Toshiba Business Solutions Usa Inc [Ad]	First Offer - \$391.00	3 / each	\$1,173.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model:: e-Studio 4	<b>lake:</b> : Toshiba		
IKOn Office Solutions, Inc.	First Offer - \$728.51	3 / each	\$2,185.53		Υ
Product Code: Agency Notes:		at a monthly comm	Make:: Ricoh 4502 / lease rate including hitment of 26667 B/V our annual commitm	V and 666	7 color

## **Supplier Totals**

Toshiba Business Solutions Usa Inc [Ad]

\$20,695.00 (7/7 items)

Bid Contact Melissa Nemia Address 6401 Nob Hill Road

	mnemia@tbsfl.toshiba.com Ph 954-428-1300	Tamarac, FL 33321
Agency Note	es:	Supplier Notes:
IKOn Office	Solutions, Inc.	\$31,969.61 (7/7 items
Bid Contact	troy spallone troy.spallone@ricoh-usa.com Ph 954-835-9000	Address 1401 nw 136th ave suite 400 sunrise, FL 33323
Supplier Code	e 00010564	
Agency Note	es:	Supplier Notes:

\* \*

## No Bids

Konica Minolta Business Solutions Unfortunately we will have to "No Bid" this bid due to the rigid terms and conditions stated in the bid. Konica Minolta has been named "Line of the Year" two years running by Buyers Labe and has the lowest priced equipment on the State of Florida contract. If the City of Ft Lauderdale is willing to compromise on their terms or piggyback off of the State of Florida contract, we would be honored to participate.